Ui =1 A g
THH /THE FER HAAT b & A il 1] R
ST 6 AR TR B VET L SR AL S AT N AR S 0 2 EH
JH G A SR S 2V 26, 430, 000
E i 2V 17,180, 716
[EREEKil 2V 11, 496, 386
[EREINER ¢ 2V 10, 555, 860
FHH AR A2
ek = 398, 070
¥ SRS o HH A Ty
] A HRIT A
¥ SRS B PN
VEZEG = [N
¥ DFE YERL

o ] 5 R A SR




Ui =1 A R g
THH /THE FER HAAT iy & KA il 1] R
R e D5
A O =X 1 10, 157, 790
e 1 Bk A
Wine 7V
MER 50 3
AR RO VERR
MERI 50 L3
HEFIE 50 o F A FH LA
EHRE (B LS4 2V 1 940, 526
2V 1 Wk S
2V 1 HRE R
Z Ot FAT 2V 1 5, 684, 330
& O AL 2V 1 5, 684, 330

o ] 5 R A SR




=1 N iR g
HE /TR R HAAT & & A #H Gl R
— R R =X 9, 249, 284
— R R =X 9, 249, 284
E S = 26, 430, 000

o ] 5 R A SR




	2.積算

